N13 Money Questions



OCR



11

Created by W Neill
Chris is organising a wedding.

(a) The wedding breakfast is in a hotel.

It costs £400 to hire the room plus £69.95 for each guest.
He can spend a maximum of £5500.

What is the maximum number of guests he can invite to the breakfast?
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(b) There are 120 people in the evening.
A buffet is ordered for 85% of these people.

For how many people is the buffet ordered?
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11 Chris is organising a wedding.

(a) The wedding breakfast is in a hotel ..
It costs £400 to hire the room pluor each guest.
He can spend a maximum of £5500.
What is the maximum number of guests he can invite to the breakfast?

£5500 - £600 = £S100 left

S(oo

“tqas = /{9
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(b) There are 120 people in the evening.
A buffet is ordered for 85% of these people.

For how many people is the buffet ordered?

<S / Oiﬁ 20
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5 George is going to make biscuits for a party.
He buys:
* two 2509 packs of butter at £1.30 per pack
* one 1.5kg bag of flour at £0.80 per bag
* one 500g bag of sugar at £0.99 per bag.

(a) (i) How much does he spend altogether?

@)1) £ oo [1]

(ii) He pays with a £10 note.

How much change should he receive?



5

George is going to make biscuits for a party.

He buys:
* two 2509 packs of butter at £1.30 per pack
* one 1.5kg bag of flour at £0.80 per bag
* one 500g bag of sugar at £0.99 per bag.

(a) (i) How much does he spend altogether?

/ 2.60

O-8O
/C%%%—" @) £ qu

(ii) He pays with a £10 note.

How much change should he receive?

10 ~629 S 4|
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(b) Four friends buy cinema tickets using this offer.

Video created by W Neill

Cinema tickets

Buy 3 tickets and get a ticket free

They each pay £6.45.

How much does a ticket cost?
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(b)buy cinema tickets using this offer.

Cinema tickets

Buy 3 tickets and get a ticket free

e {ickels
They each pay £6.45. kel pq.'d 3 féﬁfﬁ_ 5 L{ /\\
How much does a ticket cost?
& bk 470 |
860 Lspt = ¢80 F25 &

212550
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7 Hardeep buys 11 identical shirts and 24 identical ties for £403.51.
The cost of a shirt is £15.65.

Find the cost of a tie.



Video created by W Neill

Hardeep buys 11 identical shirts and 24 identical ties for £403.51.
The cost of a shirt is £15.65.

Find the cost of a tie. :[jé
hirts sRtae b=l s
Flsbs it =41T01s [ ZH3I36 = chbies ) o

D Sl = | He b



10 Reuben hires a car. Created by W Neill

It costs £150, plus 85p for each mile he travels.

When Reuben hires the car, its mileage is 27612 miles.
When Reuben returns the car, its mileage is 28361 miles.

How much did Reuben pay to hire the car?



10 Reuben hires a car. Created by W Neill

It costs £150, plus 85p for each mile he travels.
N13 ——

When Reuben hires the car, its mileage is 27612 miles.
When Reuben returns the car, its mileage is 28361 miles.

How much did Reuben pay to hire the car? ggp v 7&51 - :‘e_&
Mgw i he used . 2% 26 63665_
= OFFLlD P

2 miles = £6364S

—

4 £ 150
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17 James works from 2pm until 8.30pm on both Thursday and Friday.
He is paid £12 per hour.

N13
On Saturday he is paid 115 times this hourly pay.
He works for 5 hours on Saturday.

Calculate how much James earns in total for these three days.
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17 James works from 2pm until 8.30pm on both Thursday and Friday.
He is paid £12 per hour.

N13 o . ’@Fl 2492
On Saturday he is paig his hourly pay. / 71- 7 %

He works for 5 hours on Saturday. ik s

iy =

Calculate how much James earns in total for these three days.

“Thvrsdey e Seb
e = |
Do > £30p 7 7% £\ X | A

_ 718 X Shes

l
2 Szl

- 1%




Video created by Will Neill
8 A water company charged the following in 2017.

N13 £2.00 for each m3 of water used
plus
a fixed charge of £45

In 2017 Jenny used 110m? of water.
For the 12 months of 2017 she paid £20 per month to the water company.

How much more money does Jenny need to pay to the water company?
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8 A water company charged the following in 2017.

N13 £2.00 for each m3 of water used
plus
a fixed charge of £45

She hss paid

£20 x|\?2

How much more money does Jenny need to pay to the water company? - z ZL[O
Om x £2 Skl oe
N Rl 24265

\Ut’% D\H gZ(bb

In 2017 Jenny used 110m?3 of water.
For the 12 months of 2017 she paid £20 per month to the water company.
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8 This table shows the ticket price for each person to visit a zoo in winter.

Type of ticket Ticket price
Adult (aged 18 and over) £18
Child (aged 3 to 17) £14
Child (aged below 3) Free

(a) A family of two adults, one child aged 8 and one child aged 1 visit the zoo in winter.

What is the total cost of the tickets?

N13
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8 This table shows the ticket price for each person to visit a zoo in winter.

Type of ticket Ticket price
Adult (aged 18 and over) £18
Child (aged 3 to 17) £14
Child (aged below 3) Free

(a) A family of two adults, one child aged 8 and one child aged 1 visit the zoo in winter.

N13 What is the total cost of the tickets? 2 qu{E_S ’Z K{é[@ _ ,Sé
| chilol - X £l +1k

o e—

SO
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: Video created by W Neill
8 Joanne wants to buy a dishwasher.

The dishwasher costs £372

Joanne will pay a deposit of £36
She will then pay the rest of the cost in 4 equal monthly payments.

How much 1s each monthly payment?

(Total for Question 8 is 2 marks)




: Video created by W Neill
8 Joanne wants to buy a dishwasher.

The dishwasher costs £372

Joanne will pay a deposit of £36
She will then pay the rest of the cost in 4 equal monthly payments.

How much 1s each monthly payment?

£372 - £3b = £33 ~4
=84
gL

(Total for Question 8 is 2 marks)
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9 Here are some prices in a cafe.

Prices
Tea £1.60
Coftee : 50 At
Milk 95p
Toast £1.85
Bacon sandwich £3.30
Egg sandwich £2.95
Jack orders

2 teas

1 coftee

| toast

1 bacon sandwich
Jack only has a £10 note.

Does he have enough money to pay the bill?
You must show how you get your answer.
(Total for Question 9 is 3 marks)
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9 Here are some prices in a cafe.

Prices
Tea $20
Tea £1.60 S
Coffee £2.25 (offee J-2
Milk 95p ==
Toat 8>
Toast £1.85 .
Bacon sandwich £3.30 bc'COﬂ ’I_ ,S. glo
Egg sandwich £2.95 /Z_'(_C_)———(D O
Jack orders
2 teas © /\/ h 6 //)
1 coffee.” O Y, ¢ O{O@S 1% OIVK
I toast

1 bacon sandwich GﬂOUjH

Jack only has a £10 note.

Does he have enough money to pay the bill?
You must show how you get your answer.
(Total for Question 9 is 3 marks)
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18 A number of students go on a coach trip.

The cost of hiring the coach i1s £180
The school pays 80% of this cost.
The students pay the rest of the cost.

Each student pays £1.50

Work out the number of students on the coach trip.

(Total for Question 18 is 4 marks)




. _ Created by W Neill
18 A number of students go on a coach trip.

The cost of hiring the coach 1s £180 f1-50 = |Fudat

The school pays 80% of this cost. 4 - S{.,,aeﬁ.s S{j O\Q,q E—S P‘?j ,ggl{)

The students pay the rest of the ost.
X\
e e

S 434 = 2 stdeds
Work out the number of students on the coach trip. et 2
S 2
0 ISO 7+, S
20/. <43, {/ ZPQ”/

oo gy S 2

Each student pays £1.50

(Total for Question 18 is 4 marks)
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18 Claire buys a new car for £5700

She pays a deposit of 12%
She then pays the rest of the cost in 15 equal monthly payments.

How much is each monthly payment?

(Total for Question 18 is 3 marks)




Created by W Neill

18 Claire buys a new car for £5700

She pays a deposit of 12°
She then pays the rest of the cost 11 15 equal monthly payments.

How much is each monthly payment?

0t o £S700 = AL
Owes £g700'£ég((( £ _ggo(é

mOfJH\B l ébO%*b

(Total for Question 18 is 3 marks)




Video created by W Neill
12 Ria buys

N13 2 packets of biscuits costing £1.40 each
2 cakes costing £1.50 each
3 bottles of orange juice costing £1.10 each

Ria pays with a £10 note.

Work out how much change Ria should get.

(Total for Question 12 is 3 marks)
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12 Ria buys

2 packets of biscuits costing £1.40 each = Q : % O
N13 . 5
2 cakes costing £1.50 each =
3 bottles of orange juice costing £1.10 each - g -0 O
Ria pays with a £10 note. gl' g O
Work out how much change Ria should get. é Cf ‘ ( O

f\o ~ Zﬁ{o - C\f\qnje

(Total for Question 12 is 3 marks)
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14 Tim works for a company.
His normal rate of pay is £10 per hour.

N13

On Friday Tim worked 4 hours overtime.

; , T :
His overtime rate of pay 1s 1 5 times his normal rate of pay.

Work out how much money Tim was paid for his overtime on Friday.

(Total for Question 14 is 3 marks)
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14 Tim works for a company.
His normal rate of pay is £10 per hour.

N13
On Friday Tim WOI‘kC@

; , e . :
His overtime rate of pay 1s 1 5 times his normal rate of pay.

Work out how much money Tim was paid for his overtime on Friday.

20 % | l/z ZIS x G I
/ £
{(O + gg :gfsoue/lfime
perboc Lo

(Total for Question 14 is 3 marks)
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14 Abi is going to buy ingredients to make 65 hot chocolate drinks.
She needs 12 g of chocolate powder and 5 marshmallows to make each drink.

Abi can buy
chocolate powder in 250 g jars at £2.99 per jar
R26 marshmallows 1 bags of 120 marshmallows at £1.45 per bag

N13
work out the total cost of the chocolate powder and the marshmallows she needs to buy.

(Total for Question 14 is 4 marks)
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14 Abi is going to buy ingredients to make 65 hot chocolate drinks.
She needs 12 g of chocolate powder and 5 marshmallows to make each drink.

Abi can buy
chocolate powder in 250 g jars at £2.99 per jar
R26 marshmallows 1 bags of 120 marshmallows at £1.45 per bag

N13
work out the total cost of the chocolate powder and the marshmallows she needs to buy.

Choc $hwder mc"' ch
l df[ﬂ{'\/ ) )({)g—

]2 l Olrink B
(6\ % b ol ) x5S 6 32)/\*\ S O‘rnn‘/g Tok<] _
7%03 D ook a6+ (.35

\20 =
%o Lx{24 uo 3 ’f_i’? e 1631

; 3o _
?Z'SSO i % [ I QE (Total for QueSs;ion 14 is 4 marks)




7 Fahima buys Video created by W Neill

2 packets of bread rolls costing £1.50 for each packet
1 bottle of ketchup costing £1.60
3 packets of sausages

Fahima pays with a £10 note.
She gets 30p change.

Fahima works out that one packet of sausages costs £2.30

Is Fahima right?
You must show how you get your answer.



7 Fahima buys Video created by W Neill

2 packets of bread rolls costing £1.50 for each packet
1 bottle of ketchup costing £1.60
3 packets of sausages

Fahima pays with a £10 note.
She gets 30p change.

Fahima works out that one packet of sausages cost@
Is Fahima right? (‘)qO

You must show how you get your answer. \ : 60

Sausqjas //'SJ-_Ogd
7130 x3 = £494 [1-SQ s qester

h\qr\ f[o S@ no
She (s nol correct




9 Sean works for a company. Video created by W Neill

His normal rate of pay is £12 per hour.

When Sean works more than 8 hours a day. he 1s paid overtime for each hour he works
more than 8 hours.

; : § sl :
Sean’s rate of overtime pay per hour is IZ times his normal rate of pay per hour.
On Monday Sean worked for 10 hours.

Work out the total amount of money Sean earned on Monday.



9 Sean works for a company. Video created by W Neill

His normal rate of pay is £12 per hour.

When Sean works more than 8 hours a day. he 1s paid overtime for each hour he works
more than 8 hours.

: § sl :
Sean’s rate of overtime pay per hour is IZ times his normal rate of pay per hour.
On Monday Sean worked for 10 hours.

Work out the total amount of money Sean earned on Monday.

" 96

y Quertime
Bhor> - t/ 30

y -
£1L X% =/q, Rhes | 212 &
2 / \5 Zhesx4s '"'__—/

c =#30
12 £3
:é{S
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6 There are 495 coins in a bottle.

| . :
— of the coins are £1 coins.

124 of the coins are 50p coins.
The rest of the coins are 20p coins.

Work out the total value of the 495 coins.

(Total for Question 6 is 4 marks)
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6 There are 495 coins in a bottle.

| , :
5 of the coins are £1 coins.

124 of the coins are 50p coins.
The rest of the coins are 20p coins.

Work out the total value of the 495 coins.

£ SOe _k

- -y Uas - 165~ |2k = 206
of 1aS = 1bScon X £0-50

/g of 1S = 1bScans( [k X 2050 [ ol

Z1bs e = Ad20

(Total for Question 6 is 4 marks)
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13 Ellie makes hats.

She makes at least 17 hats per hour.
She 1s paid 46p for each hat she makes.

Reaze i1s a waiter.
He works 35 hours and is paid a total of £266

Show that Ellie’s hourly rate of pay 1s more than Reaze’s hourly rate of pay.

(Total for Question 13 is 3 marks)




13 Ellie makes hats.
She makes at least 17 hats per hour.
She 1s paid 46p for each hat she makes.

Created by W Neill

Reaze 1s a waiter.
He works 35 hours and 1s paid a total of £266

Show that Ellie’s hourly rate of pay is more than Reaze’s hourly rate of pay.
E lie Qeqze
7 X fotb 226 =3S =770

= F1.82
4 1782 >F7¢0

Elle Corns More.

(Total for Question 13 is 3 marks)




17 Emily buys a pack of 12 bottles of water.
The pack costs £5.64

Emily sells all 12 bottles for 50p each.

Work out Emily’s percentage profit.
Give your answer correct to 1 decimal place.

Created by W Neill

(Total for Question 17 is 3 marks)




17 Emily buys a pack of 12 bottles of water. Created by W Neill
The pack costs £5.64

Emily sells all 12 bottles for 50p each.

g(\)g( y(gﬁlilllll;ge: lc)f)i‘f:?tt f:g elpcll-ggiﬁal place. / (]D e { / E
g!}endg IS 64 1L
l

.

S})@ mc,‘f(é’g SOP X 17 = fé-OO o(|3mc;{

X \0O

T— é , e %

/ (Total for Question 17 is 3 marks)




4 The table gives information about the prices of cinema tickets.

Cinema ticket Price

adult ticket £7.80
child ticket £5.80
family ticket (for 4 people) £24.30

Mr Edwards and his 3 children go to the cinema.

It is cheaper for Mr Edwards to buy 1 family ticket rather than 4 separate tickets.

(a) How much cheaper?

The film starts at 6.45 pm.
The film lasts 102 minutes.

(b) What time does the film finish?

Created by W Neill



4 The table gives information about the prices of cinema tickets. .
Created by W Neill

Cinema ticket Price : .
§nslz Eiclels
adult ticket £7.80
child ticket £5.80 | X £780 = £7:80
family ticket (for 4 people) £24.30 ’3 X zz’ S‘@O = {(7[40
Mr Edwards and his 3 children go to the cinema. g 2 S- . ZO

It 1s cheaper for Mr Edwards to buy 1 family ticket rather than 4 separate tickets.

(a) How much cheaper? ’F;W”[j EECW{' - -{2@%0

£25710 - {2430 q\Op or £0-90

The film starts at 6.45 pm. { 0 :
The film lasts 102 minutes. Z Min — ( A(‘ 42 min
(b) What time does the film finish? lhe 30,“'-’\ \Zns "

()le 743 IS %,Z;Pm/



.. Created by W Neill
11 Jack’s driving school has two offers. et .

Offer 1 Offer 2
First driving lesson free All driving lessons
All other driving lessons normal price 5% off the normal price

The normal price of a driving lesson is £24
Douglas is going to have 12 driving lessons.

Which is the cheaper offer for 12 driving lessons, Offer 1 or Offer 2?
You must show how you get your answer.

(Total for Question 11 is 3 marks)




11 Jack’s driving school has two offers. Created by W Neill

Offer 1 Offer 2

First driving lesson free All driving lessons O q@f (
All other driving lessons normal price 5% off the normal price .
(S Ch@V

The normal price of a driving lesson is £24

Douglas 1s going to have 12 driving lessons.

Which is the cheaper offer for 12 driving lessons, Offer 1 or Offer 2? 5 S / OM% K
You must show how you get your answer. i
yOugely Offer 2

ol = ko

S LN 2 X {2 = £28%
e+ (I 222 -4, (os- 4285 -0
) = 07340

(Total for Question 11 is 3 marks)




10 Tim and three friends go on holiday together for a week.
N{3The 4 friends will share the costs of the holiday equally.
Here are the costs of the holiday.

£1280 for 4 return plane tickets
£640 for the villa
£220 for hire of a car for the week

Work out how much Tim has to pay for his share of the costs.

Video created by W Neill

(Total for Question 10 is 3 marks)




10 Tim and three friends go on holiday together for a week. Video created by W Neill

N{3The 4 friends will share the costs of the holiday equally.

Here are the costs of the holiday. ! 2 g O

£1280 for 4 return plane tickets 6 (-l' O
£640 for the villa
£220 for hire of a car for the week 2 ’2 O

Work out how much Tim has to pay for his share of the costs. IQ [ u O

0635
k| 274D

(Total for Question 10 is 3 marks)
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8 Neil buys 30 pens, 30 pencils, 30 rulers and 30 pencil cases.

VI3
Price list
pens 6 for 82p
pencils 15 for 45p
rulers 10 for £1.25
pencil cases 37p each

What 1s the total amount of money Neil spends?

(Total for Question 8 is 5 marks)
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8 Neil buys 30 pens, 30 pencils, 30 rulers and 30 pencil cases.

Vi3 Penci| Cases

Price list

pens 6 for 82p 37 P X go

pencils 15 for 45p
rulers 10 for £1.25 = %{ ( . [O
pencil cases 37p each

What 1s the total amount of money Neil spends? Qulef S

pers g sp( 10 B grs

,Ls({7 fer gngxs’ = QOP 30 for 375
Y30

210 B ‘qgs/

(Total for Question 8 is 5 marks)
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23 Raya buys a van for £8500 plus VAT at 20%

L+ Raya pays a deposit for the van.
(V1> She then pays the rest of the cost in 12 equal payments of £531.25 each month.

e
Find the ratio of the deposit Raya pays to the total of the 12 equal payments.

Give your answer 1n 1ts sumplest form.

(Total for Question 23 is S marks)
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Raya buys a van for £8500 plus VAT at 20%

L+ Raya pays a deposit for the van.
(V1> She then pays the rest of the cost in 12 equal payments of £531.25 each month.

e
Find the ratio of the deposit Raya pays to the total of the 12 equal payments.

Give your answer 1n 1ts sumplest form.

o ok ) R
J€S00+4120/.  \ £S3118 X\

1 11100 AN

= 410200

(Total for Question is S marks)




10 Bronwin works in a restaurant.

The table gives her rates of pay.

N3

Day

Rate of pay

Monday to Friday

£8.40 per hour

Weekend

£11.20 per hour

Bronwin worked for a total of 20 hours last week.
She worked 8 of these 20 hours at the weekend.

Show that Bronwin was paid less than £200 last week.

Video created by W Neill

(Total for Question 10 is 3 marks)




10 Bronwin works in a restaurant.

The table gives her rates of pay.

N3

Video created by W Neill

Day

Rate of pay

QO hours

Monday to Friday

£8.40 per hour

Weekend

£11.20 per hour

& X £70 (ceekend )

Bronwin worked for a total of 20 hours last week.
She worked 8 of these 20 hours at the weekend.

Show that Bronwin was paid less than £200 last week.

= 25940
[ X £540 (weemj)

= £100 %0

Tl = £lag o
Elao-to < £200 /

(Total for Question 10 is 3 marks)
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8 2 pens cost £2.38

5 folders cost £5.60
N13

R26 Ben wants to buy 20 pens and 20 folders.
He only has £50

Does Ben have enough money to buy 20 pens and 20 folders?
You must show how you get your answer.

(Total for Question 8 is 4 marks)
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8 2 pens cost £2.38

5 folders cost £5.60
N13

R26 Ben wants to buy 20 pens and 20 folders.
He only has £50

Does Ben have enough money to buy 20 pens and 20 folders?
You must show how you get your answer.
Po\ders

€ns 2 NS ~ é? 2% 5 foldes = £S-60
[ P )xlo XLP(ZO{ s =f2240 Ix
70pens = {2560

hlod ¢ frgp | =M s enag
o] S 1—??@0 as ﬂ,ézo <1,ZSO/

m (Total for Question 8 is 4 marks)



13 Annie sold

N13 45 books at £1.20 each
34 candles at £1.50 each
some calendars at 90p each

She got a total of £150

Work out how many calendars Annie sold.

Video Created by W Neill

(Total for Question 13 is 4 marks)
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13 Annie sold

> 94
N13 45 books at £1.20 each / Z—Z.5| g[O 5

34 candles at £1.50 each — >
some calendars at 90p each

She got a total of £150

Work out how many calendars Annie sold. 'g 4 S
e

Calendars... Z(SO  £0-90
05
il

(Total for Question 13 is 4 marks)
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18 Trevor buys a boat.

The cost of the boat 1s £14 200 plus VAT at 20%

R7
N13 [Tevor pays a deposit 0f£5(_)00
He pays the rest of the cost in 10 equal payments.

Work out the amount of each of the 10 payments.

(Total for Question 18 is 4 marks)
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18 Trevor buys a boat. "’a;q‘ k_
The cost of the boat 1s £14200 plus VAT at 20% % oS
R7
N3 Trevor pays a deposit of £5000 - k200 + ¥ LO

He pays the rest of the cost in 10 equal payments.

= £17040

Work out the amount of each of the 10 payments. k —
o depo S) Yo ole,

/1 100 + 205 & A
emeicdt” < Z 12040

20/- o 414700 \pyrol
= £1704

= £78L0 i Ow

(Total for Question 18 is 4 marks)
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8 Nadia has £5 to buy pencils and rulers.

NIS

Prices

Pencils

8p each

Rulers

30p each

She says,
“I will buy 15 pencils.

Then | will buy as many rulers as possible.

With my change | will buy more pencils.”

How many pencils and how many rulers does she buy?

Answer

pencils,

[6 marks]

Video created by W Neill

rulers




8 Nadia has £5 to buy pencils and rulers.

%S Video created by W Neill
Prices x@g
Pencils 8p each |20 - £1-20
Rulers 30p each J E s = ,f < - _é {70
She says,
“I will bu | Rler = gOP
Then | wilbuy as many rulers as possible. IO ﬂleS - f z 00

With my change | will buy more pencils.”

h
| Rulers = £3:30 'ffﬂ‘fs?o;

B - poag 2o puclls

- b
\bn\$ I

How many pencils and how many rulers does she buy?

Answer \7 pencils, \2 rulers \/




21
N3
Q?

Billy wants to buy these tickets for a show.
4 adult tickets at £15 each
2 child tickets at £10 each

A 10% booking fee is added to the ticket price.
3% is then added for paying by credit card.

Work out the total charge for these tickets when paying by credit card.

Answer £

Video created by W Neill

[5 marks]




N3
Q7

Video created by W Neill

Billy wants to buy these tickets for a show.

4 adult tickets at £15 each X é ) gg P
2 child tickets at £10 each £ 2.0 Meams
A

A 10% booking fee is added to the ticket price.
3% is then added for paying by credit card.

Work out the total charge for these tickets when paying by credit card.
[5 marks]

Lickets = £50 3/ of £&%
+\0) = £R0+45 3((‘/. = £0-8%
D3 = 7264
439 s A A
Answer £ %QO(D(-\’V/
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9 Complete the bank statement. [2 marks]
V3
Date Description Credit (£) Debit (£) Balance (£)
13/12/2016 | Starting balance 212.48
14/12/2016 | Council tax 128.39
15/12/2016 | Salary 856.21
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9 Complete the bank statement. [2 marks]
13 In ok
Date Description Credit (£) Debit (£) Balance (£)
13/12/2016 | Starting balance 212.48
14/12/2016 | Council tax 128.39 “L.09
15/12/2016 | Salary 856.21 q(‘fogo




18 Ellen works for a company that sells cars. Video created by W Neill

Her monthly pay is
e asalary of £1470
i3 :

(%

¢ 28% of the total profit the company makes from her sales

e a£250 bonus if she sells at least 15 cars.

The table shows information about the cars she sold last year.

Total cost Total income Number of months when
to the company for the company she sold at least 15 cars
£464 500 £538 000 3

Was Ellen’s total pay for the year more than £40 000?
You must show your working.
[6 marks]

Answer




18 Ellen works for a company that sells cars. Video created by W Neill

Her monthly pay is Sq[qrj = %f&?OXlz

Nl3 e asalary of £1470

R’-)L e 28% of the tote company makes from her sales :‘g r 7 6 q O

e a£250 bonus if she sells at least 15 cars.

The table shows information about the cars she sold last year. 28 / (,__
. of prof
Total cost Total income Number of months when i
to the company for the company she sold at least 15 cars 28 / O7L 7 g SO O
@ 50::7) - @38 000 ) 3
S —) ) =

= Z70SRO
Was Ellen’s total pay for thore than £40 000?
You must show your working. /g » ’S g
[6 marks] ON [/S il X ZS O

= 138970

wswer 0, 3970 < 40,000




Video created by W Neill

8 A library book was due to be returned on 27 September.
N13 It was actually returned on 14 October.

There is a fine of 8p for every day the book is late.

Work out the total fine.
[3 marks]

Answer £




Video created by W Neill

8 A library book was due to be returned on 27 September.
N13 It was actually returned on 14 October.

There is a fine of 8p for every day the book is late.

Work out the total fine.
[3 marks]

— N

L0 Sepl-
" 17 4
27 B 2% (7 ik X ¢ %95
st 2 = s >




7

Eve has these coins.

Video created by W Neill

Eve gives three of her coins to Ola.
Now, Ola has the same amount of money as Eve.

Which coins does Eve give to Ola?

Answer

[3 marks]




7 Eve has these coins. Video created by W Neill

153-Q7

&

£275
7152
Eve gives three of her coins to Ola. [3 marks]

Now, Ola has the oney as Eve.

Which coins does Eve give to Ola? Z? 7 S_

Answer gl ; 20[) , ,Zﬂ /



8 A dry cleaning shop has the following offers. Video created by W Neill

N13

Suit Dress

Normal price £12.50 Normal price £9.75

1st suit normal price Three for the price of two
2nd suit  half price

Work out the total price for 2 suits and 6 dresses. [4 marks]

Answer £




8 A dry cleaning shop has the following offers.

N13

1st suit
2nd suit

Suit

Normal price £12.50

normal price
half price

Video created by W Neill

Dress

112-S0 + £428
= ZIg-7S

Uresses

1475 7975 free

Normal price £9.75 1/Z 5{ B ﬁ']S‘ ,1[(.66

Three for the price of two

P il

Work out the total price for 2 suits an@

G2 f39

[4 marks] gc’ L i?r'?S_

Answerf — uZS? 7%_—




20 In 2015, Han was paid £1350 per month.

N13 In 2016, he
R9a had a 2% increase in his monthly pay
worked 37.5 hours per week

worked for 47 weeks.

Work out Han’s average pay per hour for 2016

Answer £

Video created by W Neill

[5 marks]




20 In 2015, Han was paid £1350 per month. Video created by W Neill

i In 2016, he 2 {(3521{ . jeqp

had a 2% increase in his monthly pay v C

R9a worked 37.5 hours per week > lx ) ZES ! S7 Leek

worked for 47 weeks.

Work out Han's average pay per hour for 2016 . % ‘537-3"
“'.g 3_3/ B [5 marks]
9 1 01£ 21250 . new montk{j Py %Q%/]b Hf\(
/ + 27
727 e

;fg']? N mmH\jj )(\2

lescly - 137717
= g/&SZL;( Answer £ q 38




Video created by W Neill

5 2.5 kg of carrots cost £1.70

R26 Work out the cost of 3.25 kg of carrots.

N13 [3 marks]

Answer £




Video created by W Neill

5 2.5 kg of carrots cost £1.70

R26 Work out the cost of 3.25 kg of carrots.

A5 = |
W . J S
/'\.) | K‘j = :
YL e g.ng\q) -

i
R
O
L/

\
N O
N O
™
%S

=

Answer £ {/22( /

7.




11 300 passengers go on a coach trip. Video created by W Neill
Each coach takes 50 passengers.

N13 Each passenger pays £25

The table shows the costs for the coach company.

Cost for each coach

Pay for driver £90

Fuel 70p per mile

Each coach travels 200 miles.

Work out the total profit the company makes from this trip.
[6 marks]

Answer £




11 300 passengers go on a coach trip. Video created by W Neill

Each coach takes 50 passengers. {Y]o[\{::j Made
N13 Each passenger pays £25 gOO 4 %2 <
The table shows the costs for the coach company.
=[7500 -
Cost for each coach i e e e =it
Pay for driver £90 Orivers = ‘B’S(Eg/ - é coaches
Fuel 70p per mile
LG Ories s OF £90
E;_T coach travels 200 miles. ‘:’{5& O,/
Work out the total profit the company makes from this trip. A o s it i
COMP*D Cosks = BLO /Pf'O.l{,L éCD"CL‘“ = é KZOO mles
+,50 o = (200m{e
( = md€s X /0p
47380 | 7220 _
Z | K0 $LO00p
/ ——
6120 = £5LO

Answer £ 6(20 ,_/




6 Saj wants to go to all 19 home games at a football club.
N13 For each game, a ticket costs £28
A season ticket
costs £379
and
gives entry to all 19 home games.

In total, how much does Saj save by buying a season ticket?
[3 marks]

Answer £




6 Saj wants to go to all 19 home games at a football club.
N13 For each game, a ticket costs £28
A season ticket
costs £379
and

gives entry to all 19 home games.

In total, how much does Saj save by buying a season ticket?

No <eason Eickek Ticket - %379
72% X (4 Suvirss... 532 79
25%2// =

\ Answer £ IS% /

[3 marks]




N13

Jim has six banknotes.
The value of each note is £5 or £10 or £20

He can make £20 with three notes.

He can make £55 with four notes.

He cannot make £25 with three notes.

He cannot make £25 with four notes.

List the six notes.

[2 marks]




8 Jim has six banknotes.

The value of each note is £5 or £10 or £20

N13

He can make £20 with three noteg/ 5 5 lo ?O
He can make £55 with four notes.

—_—

He cannot make £25 with three notes.

He cannot make £25 with four notes.

List the six notes.
[2 marks]

U S &




12 (b) The table shows the profit or loss the takeaway makes on each pizza.

N13 Normal price Offer price
10-inch £3.74 profit 51p loss
12-inch £5.29 profit 4p loss

In week 1 the total profit was £1895.55
At the end of week 1 the takeaway spent £175 on adverts.

Was the increase in profit in week 2 more than the cost of the adverts?

You must show your working.
[4 marks]

Answer




12 (b)

N13

The table shows the profit or loss the takeaway makes on each pizza. l“ c(anse in Pﬂ:‘{ﬂ (-

Normal price | Offer price 2\5% 26 = |%45'SS

10-inch £3.74 profit 51p loss

12-inch £5.29 profit 4p loss = 572@2,7/
In week 1 the total profit was £1895.55 Ygs 2627{ > ,{{73’

At the end of week 1 the takeaway spent £175 on adverts.
— ans

Was the increase in profit in week 2 more than the cost of the adverts?

You must show your working. 0 ks
I

PFU{‘L" n week ) Normsl  29ab X £374 ZLH{S[OQ

offer . 342 xfosl | ZI&L .42 %2 <K . 2é
Lk Dol — 160 LS 29 (1% 47.5¢

U xfook |- 1577

Answer




Video created by W Neill
6 (a) Complete the bank statement.

[3 marks]
N13
Date Description Credit (£) | Debit (£) Balance (£)
01/09/18 | Starting balance 1140.79
06/09/18 | Car repairs 256.00
17/09/18 | Gas bhill 87.31
24/09/18 | Salary 2069.75

6 (b) Write down the meaning of ‘Debit’” as used in the bank statement.
[1 mark]




Video created by W Neill
6 (a) Complete the bank statement.

[3 marks]
N13 Money 'n Pay Oule
' %)
Date Description Credit (£) | Debit (£) Balance (£)
01/09/18 | Starting balance 1140.79
06/09/18 | Car repairs 256.00 @% (_\ 7 C(
17/09/18 | Gas hill 87.31 7q 7 ; L\ %
24/09/18 | Salary 2069.75 Lol S
6 (b) Write down the meaning of ‘Debit’” as used in the bank statement.
[1 mark]

moﬂ?-d COM.‘f\% ot o‘ﬂ Lhe acont



Video created by W Neill
8 Beth sells hot dogs at a market.

Each hot dog is a sausage in a bread roll.

N13 Beth sells the hot dogs for £3 each.

She sells 300 hot dogs.

Hot dogs -
£3 each Work out her total profit. [5 marks]
The table shows her costs.
Fee paid to market £240
Bread rolls 42p per pack of 6
Sausages £2.50 per jar of 10
Other costs £57

Answer £




Video created by W Neill
8 Beth sells hot dogs at a market.

Each hot dog is a sausage in a bread roll. Beth sells the hot dogs for £3 each.

N13
She sells 300 hot dogs.
I;gt::cghs Work out her total profit. [5 marks]
SJ’\Q mMales 200 X 43
The table shows her costs. g qoo
N — kel
Fee paid to market £240 COSFQ .- - gZLk O
Bread rolls 42p per pack of 6 SO pqcks X ‘)1'0 [-\ o = 52[
Sausages £2.50 per jar of 10 30 \—}Q"S X ’Z?SO - { 75

Other costs 374 —Z S 7 <

Toksl cosk Bﬁg (P@#-L 114900_‘393
; — r




18 Bottles of drink are for sale at three shops. itboeremedli Bk

The normal price of a bottle is the same at each shop.

N \3 Shop A Shop B
'R% Buy 1 bottle Buy 2 bottles
Get 2 more bottles at half price Get 3 more bottles at half price
Shop C

30% off a bottle

What is the cheapest way to buy exactly 8 bottles?
You can buy from more than one shop.

You must show your working.
[3 marks]

Answer




The normal price of a bottle is the same at each shop.

18 Bottles of drink are for sale at three shops. kae f [ itboeremedli Bk

N 13 Shop A Shop B = e —
R% Buy 1 bottle Buy 2 bottles £| L%I
Get 2 more bottles at half price Get 3 more bottles at half price g p é |
S sop
Shop C ’Soj_ O{, é ( Fl S‘OP
30% off a bottle
S0p £
What is the cheapest way to buy exactly 8 bottles? { ‘ % I
You can buy from more than one shop. S
You must show your working. SOF Sof
% Sop

é bo(’aes {row\ A SUF

&

i ——

70p
70p Z140

70P
’70()
70p
7P
ToP

70p

Answer qaoa Z ‘60('/6({:3 7[;’03"’1 C



13 To make one cheese sandwich, Gina uses one bread roll and two cheese slices.

N13

N23 Pack of 15 bread rolls Pack of 20 cheese slices
£1.88 £2.15

She is going to buy enough packs to
have exactly twice as many cheese slices as bread rolls

make more than 100 cheese sandwiches.

Work out the least amount she can spend.
[4 marks]

Answer £

Video created by W Neill
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13 To make one cheese sandwich, Gina uses one bread roll and two cheese slices.
N13 \eas\c 100
N23 Pack of 15 bread rolls Pack of 20 cheese slices

£1.88 £2.15

She is going to buy enough packs to
have exactly twice as many cheese slices as bread rolls

make more than 100 cheese sandwiches. % Pq CL(_S

Work out the least amount she can spend.
[4 marks]

BR .. 15, 30,4, 60,7S,90, (05,170, RS .

(S ... 20,40,60,%0, (00,119, 10,(£0, (€0, 100, 220,240
8 K £1-88 = £IS04
12 X ¢7245 = E2S§0

T e 04084 S

1T packs




